MAP 4175/5177 Name:
Quiz 9 Date: October 28, 2015

Show all work for full credit, and use correct notation. Simplify answers completely.

1. Given a triple decrement model with p'( = 0.9, p'(z) = 0.8, and p'(3) = 0.7 ) )
: : an\: '7('8)("”:.50"(

determine q,(c using a constant force assumption for each decrement.

%ia' cc)\ f’: (-.5642 .49
CF = F’('J) _:[: (‘b\]
tlx ;
3%y () .
b g son 2 Ty
——/\N/‘M\—"\MNW‘\/\/
or ) More p(croe{,@’) ('t) @y

e, B f*
(;\:S;t& H« ' c.FS F (}A(7)a(b E—(l

B
o *,(7/\(.3) (2 _ Qn( 8) Sy LIS
EERYACS) =7 b = ‘NE sm<l OLb e

2. For a double decrement model where each decrement is uniformly distributed in the
double decrement table, given q;( = 0.05 and q,, ' =, 10, determine  p, ),
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3. Given a double decrement model where decrement 1 has u( ) = 0.01 and
decrement 2 is DML(lOO) in the associated single decrement table, determine mq(l)

) < 1D {(a) — ol /ise-75-10
4} @ : )(
% = Z z ‘°F’]S - leffs o q5 - ;oc~’75
o 015 te 07€ gLy “
=, é, e
73('&\ é?é
« v 1@ g5 ) /(2 o i
() lo 0 ( (2 £ = é_,- AL
loab’zg = S,, tls tETS Masre A %75 ©
| i = cit {O ’ - l'>
=% e |, = Y(l-¢€
: |
. (v ) A _‘[1_ , ».l]_ : A _ ;
v ¢ lo%rzg :[\‘.‘Oe [L((l“e' ) - 3»"(@ 3-—" ‘076%
4. For a double decrement model where each decrement is uniformly distributed in its
associated single decrement table, given q,’c( = 0.05 and ¢, ') = 0.10, determine
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